1. Complete this proof of Theorem 2-5 . . .
Write and solve an equation to find the

Given: Angles G and H are supplementar . .
I PP y measure of each pair of angles described:

and L.G=/H
Prove: Angles G and H are both right angles.
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Name a pair of adjacent angles
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P / Write two equations such as: ZA)’% 3 Z 6
y % y = 2x (vert angles =)
and

/ y+x+y+5=180 (supple angles)

~ Substitute to get:

2x+x+2x+5=180 B
Solve for x x=35
then find y: y=2x=2(35)=70
Name a pair of supplementary angles.
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Find the value of each variable.
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